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Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in _zero mark in that question,
D C B A Questions / =y B
) ) . s Junnd 3x2 +5x-2=0 =il-BaSi |1
3 3 3 e If o, B are the roots of P esiotp
3x? +5x—2=0 , then 0+p is :
" wp A G33 L wiade 2
Lol . "y . The e)'(te.nt uj#fu}évudw‘}/ﬂru’r
P Range Mode T of variation between two extreme
& g observations of a data set is measured by :
df/(diug/ffc.gﬂur}gfu"u:ﬁé./’b.{i 3
0 0 0 o Out of :‘at‘ﬂ---,;b‘df/(d/n?ﬂ}0°7;U
45 30 60 90 two congruent arcs of a circle, if one arc
make a central angle of 30°, then the other
arc will subtend the central angle of :
s , 5 T :ﬁ;kaGKjf/Lwtfé’Jfﬁgﬂ; 4
o ’ Chord - R d'/ The distance of any point of the circle to
angen G talilel N its centre is called :
5
D e s FE5x?=15x
{0,3} {15} {5) {0} g
Solution set of Sx“=15x is:
3sf1 2 1Y ! lcosec 45° = : .
N1 242 2
V3 ps T T a@nt@&.,u&yéff’,ﬁ 7
7 % 4 & The measure of the external angle of a
regular octagon is :
w™ w2 w! w? w=: g
“. .z a_y b_x b_y It :ct;c,?f?na:b——'x:y/fi 9
by b x a y a x a: b =x .y, then invertendo property is :
st ax? +bx+e =0 YT 9I1)) 10
4 2 3 ! The number of terms in a standard : ‘a;uﬁ J
quadratic equation ax? +bx+c =0 is:
A B ¢ {¢} ‘Lt'n/,l/,A(\B;AgB/?I il
If Ac B ,then AN Bisequalto:
f/ P s 73 :‘gk'n ------ (f‘ugl.}/‘gé_//i)v{f 12
Centre Diameter Radius Chord A circle has only one ---- :
/._.,}_l’ /ﬁ"’}-,’ﬁ; JV sl 2x +1 is: :L_-—v(’ 2x+1 ]3
Proper fraction | Improper fraction | An identity Equation (x+D(x-1) . T (x+D(x-1)
k 2 . .3 2 [ 4
u=k2v u:kvz uz;i T, If uocv”® , then : Huoccy /l
Py 3¢ Gk e | o P
Domain Universal Singleton Empty {¢} is-——-set: eer---{¢}
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(PART -1 sl 2> )

12 2. Write short answers to any SIX (6) questions : 4 1Y 4 &L ey (6){&8,( 2
(i) What is meant by radical equation? Cet plf e cehlriie ()
(ii) Write the quadratic equation in standard form : % + xl = 2 U Jé dz.l;v:’/ =hale (i)
x x
(iii) Solve by factorization : x> =x-20=0 , : é‘f 7 24 (i)

(iv) Find the discriminant of the given quadratic equation:  : &, (o 030} K:A:L/u’.{:» Gv)

16x% = 24x+9 =0

(v) Evaluate : ’ o B o7

-y (Ped ()
(vi) Write the quadratic equation having following roots : : &7, sl Gisnsiises kit (vi)
1,5
bk JaT =3 2R=84 ReT2 S (vid)
(viD) If Roc7? and R=8 when 7T =3, find k
(viii) Define ratio and give one example. | ety Sl (vidd)
(ix) Find a third proportion to : 6,12 : 2L, e (%)
12 3. Write short answers to any SIX (6) questions : : o Y 4 /3 L ey (6)‘,?4:—81( 3
(i) What is meant by an identity? Cesl e ed' e ()
(i) Convert into proper fraction : x?i:l P e <2l (ii)
i A 4-B SuncenB w4 Sl GiD
(i) If 4 and B are twosets, then represent 4 — B in set builder notation.,
(v) If Y=2*,T=0", thenfind YUT EeF YOTIT=0" ¥ =2* /i Gv)
“E NSNS Y X Y ={de} m X ={a,b,c} I ()
'(v) Find number ofelementsin ¥ x X , if X ={a,b,c} and Y={d,e}

B={c,d} <A={a,b} Jigied 4xB (i)

(vi) Find AxB if A={a,b} , B={c,d}
(vii) Define median.

ZEw S s (i)
ZEr P L L2,4,8 iy i 9 i)
(viii) Using logarithmic formula, find the geometric mean of 2, 4, 8
(ix) Find range : 11500, 12400, 15000, 14500, 14800 Z e (ix)
12 4. Write short answers to any SIX (6) questions : : of VY 4 2L ey (6){;4;{ 4
(i) Define coterminal angles. E S DY)

(i) Convert —225° to radian. S Sgh —225° (i)
(iii) Find r , when @ = 75° , £=52¢cm. ¢=52cm ¢« @ =75° ﬁ’é{(}"‘ r (i)
(iv) Show that : secf - cos@ = tanOsin 6 P et (v)
(v) Define exterior of a circle. -é - /7 Sz 2l (V)

(Z13s)




)

4. (vi) Define circumference. - /fﬂ, (}V_))/ s ) J ke (vi) -4
(vii) Define cyclic quadrilateral. E S e kA (id)

-g/o/’bgu’lu(’ 4 lﬁh}fc— Bl A k@L':J‘G&l{A f 5 (viii)

(viii) Draw a circle of radius 4 cm passing through points A and B, 5 cm apart.
(ix) Define escribed circle. g (0
(PART-II #55.2)

Note : Attempt THREE questions inall. -c-$19 AJrof - Bepinl ity f f 1o
But question No.9 is Compulsory.

4 -Zf-:J’c"/Jf{“,g,U,@fxz—3x—4:O bl (9) 5

5. (a) Solve the equation x> ~3x-4=0 by completing square.

4 (b) Prove that : P2 et ()
x3-+y3+z3—3xyz=(x+y+z)(x+-wy+wzz)(x+w2y+wz)

4 am=20P frfe M ISP s e g G () 6
n+p m-5n m-5p

6. (a) Using theorem of componendo-dividendo , find the value of
m+5n " m+5p i ome 10mp

m-5n m-5p n+p AN 3
4 (b) Resolve into partial fractions : 3x“_"_Z___ s é‘)f{ S’ 97 (&)
(x+3)(qc +4) . .
4 B={2,3,57} ¢ A={2,4:6,8,10} < U={1,2,3,4,-—- 10} J1 ()) .7

(AUBY = A'NB ZEelf)
7. @ If U={1,2,3,4, -+ 10},A={2,4,6,8,10}, B={2,3,5,7}
then verify (AUB) =4'NB’

4 (b) Find mean : :Z:r}”’knidv (<)

4

4

Classes 33-40 [41-50 |51-60 |61-70 |71-75
No. of students 28 31 12 9 5

-gr;h"uf‘f JJ@JQ%@@?ﬂuﬁ&zgﬁ:)}gd@"KO 2 ol (:050::32 Ji ) 8

8. (@) If cosf= :é% and terminal arm of the angle @ is in quadrant III. Find

the values of remaining trigonometric functions.

U Anl 3 60 AAUALS CA 1 BC « AB L L1 B2 tiwts s KAABC (&)
(b) Inscribe a circle in a triangle ABC with sides :

IAB' =6cm ]BC|=3cm , ,CA|=4cm
-gbn:}fze;)bﬁvl:L/#rJ(ﬂ;};X )}:J‘/c}rfﬁt_/'bféfgalf‘ .9

9. Prove that a straight line drawn from the centre of a circle to bisect a chord ( which is

not a diameter ) is perpendicular to the chord.
OR L

_‘gt‘yzm)c:;lju‘;Lu/.ﬁ(gf}jls‘?&,lgff/iﬁ'dﬁl}d}(/Ub&?cof:’u';uﬁ't_//l:gf(fém?
Prove that the measure of a central angle of a minor arc of a circle, is double that
of angle subtended by corresponding major arc.
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Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in zero mark in that question.
D C B A Questions / =iy WA
1 -1 a)2 ) 0).602 = 1-1
L o {] 5 o 2 e fre b Yo L x 57|
Different S . Gis 7 Sum of the deviations of the et
LHICEeH o Lo variable x from its mean is always :
UUZLL?;-U]/.'/,UL?UJJU//J’)’:J:QJ’!J..{I 3
75° 45° 60° 30° The length of a chord and Kot —egli$S
the radial segment of a circle are congruent;
the central angle made by the chord will be :
360° 270° 180° 90° N
A complete circle is divided into :
‘ 5
Th P ear SE5x% =30x = hls
(5,2) (3.2} | (2.3 | (0,69 ) G Vo =3r sk
solution set of equation 5x“=30x is: .
1-tan?@ 1+cos’6 1+tan®@ 1=sin’ @ sec? @ =--——--—: 6
Eoi b S E Ll S | ]
’ 4 2 3 How many common tangents can be
drawn for two touching circles :
s 7 4 1 u;"'uju:f. 7x2 -x+4= 0..':«‘3[/[3:(1/7' $
= A 7 — If a, B are the roots of t ey
7x2 —x+4=0 then af is :
- I Y F tUyxiyer |
Ratio Consequent Antecedent Relation In aratiox:y ,y iscalled :
10
The t e o FEax?—16 =0 bl
(2) (2} (4} (£4) i ] ’
solution set of equation 4x“—-16 =0 is:
TB={3,58}mA={2,3,5}01 1l
(2,3} {3,8} {5,8} - £3,3} IfA={2.,3,5}and : ANB=--~
B={3,58},thendnB=--—:
S s B s P e Bfeeed g is | 12
No point at all Single point Two points Three points A tangent line intersects the circle at ---:
&-'-V il /ﬁf‘%" /h,r’."/:;’ __2x_+1___. is! tle.——— J_M.__ 13
. . ¢ A proper Ani (x+1)(x—1) ‘ (x+l)(x—1)
xv? =1 xv? =k x=kv? x=v2 Ifxocvz,then: 27xocv2/‘/¢ 14
(9 (4.{a}} | (a} b e b sferds | B
Power set of an empty set is :
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(PART-1 sl )
12 2. Write short answers to any SIX (6) questions : : o A2 /;" L eliy (6){;&/ 2
(i) Define radical equation. ' E ehblr$iie (i)
(ii) Solve by factorization : 3y2 =32 -5y : éftf'/.?‘ef/)f (i)
(iii) Write in standard form : x%1—4 + " : = 3 :’&g/ufg)éd/.l,vfal:l/ (iii)
(iv) Find the discriminant of : 4x? ~7x=2 P EE ekl ()
(v) Evaluate: - @ g =5 g 2":/(}":.«2 )
(vi) Write the quadratic equation having following roots : : . .;«bl/&uudl;uj kst (vi)
-1,-7
(vii) Define direct variation. _af{.g Y Sertd (vii)

-ép"’&fL{k Inz=7 -2 Ww=5 sl waciﬁ (viii)
z

(viid) If wocl and w=S5 when z=7 find k
z

(ix) Find a mean proportional between : 20,45 : Ef.:r}” e T1dhs (%)
12 3. Write short answers to any SIX (6) questions : : 4 ICINY 4 /‘“” L ey (6){:,(;:( 3
(i) Define improper fraction. Ew S e g @
_ér}b'u.&:d/BulA = = - + B ﬁ G
(x+a)(x—a) x+a x-a
G)if —> - A M ciAmdB
(x+a)(x—a) ~x+a x-a
(i) If 4=N and-B=W , find A-B Ze# A-BIB=W m4=N N (i)

B XUY s XAY IV ={d,e} 5 X ={a,b,c} [ Gv)
(iv) If X ={a,b,c} and Y ={d,e} ,find XY and X UY

e ELEM L IM={3,4} sL={a,bc}/ )
(v) f L={a,b,c} and M={3,4}, then find a binary relation of M x L

(vi) Define subset and give an example. ' e Limst s P, .:,,rf (vi)
(vii) Define range. S S e (id)

(viii) Write two properties of arithmetic mean. & o boidle (viii)
(ix) Find harmonic mean of data : 12,5,8,4 :é'i,f(}"b:l..@fﬁb/ﬂr (ix)

12 4. Write short answers to any SIX (6) questions :  : & =u2 & £ =iy (6) g0/ 4

(i) Define an angle. | Ay NN
(ii) Convert % radian into degree. -éj»}'uﬁdﬁ/ %rad (i)

(iii) Find ‘6 *, when £=2.5m , r=4.5m. r=4.5m « £=25m 2ZEe 07 (i)

sin x.cot’ x :a@:d‘@&gfugifﬁ?fx Gv)
(iv) Simplify each expression to a single trigonometric function sin’ x.cot x

(i’d/: )




@)

4. (v) Define projection. l /7’/2'—2’2/9 2y e J& (v) -4
(vi) Define collinear points. =y < sEA (Vi)
(vii) Define cyclic quadrilateral. ey s 2B (viD)

(viii) Define perimeter. ZE b D)
(ix) The length of the side of a PRI ey 4(§UJ ol LJ‘; (V LG

regular pentagon is 4 cm. What is its perimeter?
(PART-II #35.2)

Note : Attempt THREE questions in all. -q_u'JU 9 /Jl)’ug -gal..li.d::—mruf J{ 2Ly
But question No.9 is Compulsory.

4 5. (a) Solve the equation 2x* =9x% -4 cgES e (O s
2 p2 \ ‘ )
4 -é{)‘”:«fd/-c—;—+£- ;"u;ﬂfuﬁ4x2—5x+6=0_~,m/[3‘a/l ()
a

(b) If a, B are the roots of the equation 4x% — 5x + 6 = 0 then find the
3 a8 :
value of — + ~——

a
4 6. (a) Find x in the proportion : :Z_f(:L’”ang —t (D) .6
=3 5 N WY?
2 x=l %Y x+4 ,
4 (b) Resolve into partial fractions : -——32——121——-— 2L sz (&)
(x+3)(x"+1)
4 B={1,4,7,10} ¢A={1,3,57,9} cU={1,2,3,4,-—— 10} 1 (D) .7

A-B=ANB Zoib)

7. (@ fU={1,2,3,4,-—,10} ,A={1,3,5,7,9}, B={1,4,7,10}
then verify A-B=ANB
4 :ér;h’c.{,;rujdj@/;)ﬁ}v/wbufuépiu:)‘./’lbag:’ (<)

(b) The marks of six students in Mathematics are as follows. Determine variance.

Student (“_.Au, 11273 14}5]|6
Marks J# 60 | 70 | 30 | 90 | 80 | 42

-ér)"uf"j Jsec& s cotf ¢ tan@ ¢ sind ¥ cos@>0 xl cosec@zi—;— J0) 8
4 8 ( If cosec@:%é and cos@ >0, find the values of sin@, tan@, cotfand secd .

4 e bt PEENBES s A 3OS L sk 226 5 (L)
(b) Circumscribe a circle with regard to a right angle triangle with sides
3cm,4cmand S cm.

8 -JZZ.nJ“L?“("'@(unJJWld;l/c}'//ﬁ}'wZ:;fbf’é':fa:lf' 9
9. Prove that two chords of a circle which are equidistant from the centre, are congruent.
OR L

Prove that the opposite -‘,/,,?Z.nd_.,;!)d/‘-ﬂ.i’(é—;u,&li'?Ljf;?,du’bd/a_/’bu/féqb‘

angles of any quadrilateral inscribed in a circle are supplementary.
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